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1 100kN/m#%#BZ % — - ~ — —|3mzEZE| — ~ — — — | 100kN/ Mm% %% — - ~ — — |3mEEZD -~ — — —
ZhLs 1.00 | 0.00 ~ 464 57.89 | =nLS | 000 ~ 464| 1.86 9.38 ZhLs 1.00 | 5.00 ~ 5.00 57.89 | =nbs | 6.00 ~ 500 1.86 9.38
2 100kN/m#%#BZ % — - ~ — —|3mzEZE| — ~ — — — | 100kN/ Mm% %% — - ~ — — |3mEEZD -~ — — —
ZhLs 1.00 | 0.00 ~ 642 80.84 | =hS | 000 ~ 642|191 9.64 ZhLs 1.00 |1 5.00 ~ 800 80.84 | =nbs | 6.00 ~ 800 1.91 9.64
3 100kN/m#%#BZ % — - ~ — —|3mzEZE| — ~ — — — | 100kN/ Mm% %% — - ~ — — |3mEEZD -~ — — —
ZhLs 1.00 | 0.00 ~ 6.58 82.94 | =S | 000 ~ 658 1.84 9.29 ZhLs 1.00 |1 5.00 ~ 800 82.94 | =nS | 500 ~ 800 1.84 9.29
4 100kN/m#Z#Z25| 1.00 | 0.00 ~ 1.54 123,45 |3mEEZDH| — ~ — — — | 100kN/M%ZEBZ3 | 1.00 | 10565 ~ 1587 | 123.45 |3mZEBZ% -~ — — —
ZhLs 1.00 | 1.564 ~ 932 100.00 | =nllst | 0.00 ~ 932|234 11.83 ZhLs 1.00 | 5.00 ~ 10556 100.00 | ThS | 6,00 ~ 1587 | 2.34 11.83
5 100kN/m%i#B2%| 1.00| 000 ~ 1.45| 12203 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 11.07 ~ 1587 12203 |3mZEBZ5 -~ — — —
ZhLs 1.00 | 1.45 ~ 923 100.00 | =nLst | 000 ~ 923 2.56 12.96 ZhnLs 1.00 | 5.00 ~ 1107 100.00 | ThS | 5,00 ~ 1587 | 2.66 12.96
6 100kN/m#Z#%5%| 1.00| 000 ~ 093 11397 |3mZz#BZB| — ~ — — — | 100kN/m%#Bz25 | 1.00 | 1098 ~ 1377 11397 |3mZEBZ5 -~ — — —
ThLs 1.00 1093 ~ 872 100.00 | =nllst | 000 ~ 872|234 11.84 ZhLs 1.00 | 5.00 ~ 1098 100.00 | ThS | 6,00 ~ 1377 2.34 11.84
” 100kN/mM#Zi#BZ5| 1.00 000 ~ 116| 11751 |3m&EFEZB| — ~ — — — | 100kN/M%ZE#BZ5 | 1.00 | 10.72 ~ 1427 117.51 |3mZEBZ3 -~ — — —
ZhLs 1.00 | 1.16 ~ 895 100.00 | =nLst | 000 ~ 895|229 11.56 ZhLs 1.00 |1 56.00 ~ 10.72 100.00 | ThS | 6,00 ~ 1427|229 11.56
g 100kN/m#%#BZ % — - ~ — —|3mzEZE| — ~ — — — | 100kN/ Mm% %% — - ~ — — |3mEEZD -~ — — —
ZhLs 1.00 | 0.00 ~ 7.20 91.54 | =nLS | 000 ~ 000|167 8.44 ZhnLs 1.00 1 56.00 ~ 937 91.64 | =nLS | 6.00 ~ 9.37 | 1.67 8.44
9 100kN/m#%#BZ % — - ~ — —|3mzEZB]| — ~ — — — | 100kN/mM%E#B %% — - ~ — — |3mEEZD -~ — — —
ZhLs 1.00 | 0.00 ~ 4.75 59.23 | #n4 | 0oo ~ 000|167 847 ZhLs 1.00 | 5.00 ~ 5.00 59.23 | =nLs | 600 ~ 500 1.67 847
10 100kN/m#%#BZ % — - ~ — —|3mzEZD]| — ~ — — — | 100kN/mM%E#B %% — - ~ — — |3mEEZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 549 68.52 | TN | 000 ~ 549 1.85 9.37 ZhLs 1.00 1 56.00 ~ 6.20 68.52 | ThUS | 6,00 ~ 620|185 9.37
11 100kN/m#%#BZ % — - ~ — —|3mzEZD| — ~ — — — | 100kN/ Mm% %% — - ~ — — |3mEEZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 568 70.92 | =hLs | 000 ~ 000 1.74 8.80 ZhLs 1.00 1 6.00 ~ 6.30 70.92 | ThUS | 6,00 ~ 630 |1.74 8.80
12 100kN/m#%#BZ % — - ~ — —|3mzEZE| — ~ — — — | 100kN/ Mm% %% — - ~ — — |3mEEZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 541 67.50 | FnLS | 000 ~ 000)1.76 8.88 ZhnLs 1.00 | 5.00 ~ 5.90 67.50 | ThS | 6,00 ~ 590|176 8.88
13 100kN/m#%#BZ % — - ~ — —|3mzEZB]| — ~ — — — | 100kN/mM%E#B% % — - ~ — — |3mEEZD - ~ — — —
ZhLs 1.00 | 0.00 ~ 476 59.32 | =N (000 ~ 000|168 851 ZhLs 1.00 | 5.00 ~ 5.00 59.32 | =nLs | 600 ~ 500 1.68 851
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#BZ % ~ ImEEZD ~
Zn LS ~ TS ~ Zn LS ~ TS ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Fh s ~ Zh LS ~ Fh s ~ Zh LS ~




